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run_13055020 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Fri Feb 24 06:37:40 2012
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run_13055020 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Fri Feb 24 06:35:32 2012
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run_13055020 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
Fri Feb 24 06:37:06 2012
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run_13055020 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Fri Feb 24 06:37:40 2012
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run_13055020 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Fri Feb 24 06:35:36 2012
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run_13055020 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Fri Feb 24 06:37:41 2012
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run_13055020 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Fri Feb 24 06:35:37 2012
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run_13055020 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Fri Feb 24 06:37:07 2012
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run_13055020 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Fri Feb 24 06:37:41 2012
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run_13055020 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB

Fri Feb 24 06:35:41 2012
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run_13055020 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Fri Feb 24 06:37:09 2012
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run_13055020 FGT_RMS 1,Timebin=2,Disc=4,asmb=4AB
Fri Feb 24 06:37:42 2012
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run_13055020 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Fri Feb 24 06:35:45 2012
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run_13055020 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Fri Feb 24 06:37:10 2012
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run_13055020 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Fri Feb 24 06:37:44 2012
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run_13055020 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA

Fri Feb 24 06:35:47 2012
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Fri Feb 24 06:37:13 2012

[ADC MPV for RDO=2,ARM=0,APV=0__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13055020 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 24 06:37:47 2012

[ ADC RMS for RDO=2,ARM=0,APV=0 }
g =
& Q0 P - r e
a
< 80 HE—-----ree e P
0
z 70 ERREE £ oM ) EEEEREES X EEEE 1 SRR o R 3
60 P n ---------------
== SRR F B TR P PR AR I B O N R P B 3O E B O R A 3 X PR SN ¥ Y R EEE Y F E SR R N AR B N 1 e R ) O B L P
=
30 =5
20 B
10 B
= L i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=1 "}
By =
g
[}
a
<
0
=
@
1
120
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=2 "}
= 70 —
3 :
1) -
2 60 EI
Py ]
g 50 f—
0 E—
30 p—
=
10 f—
=
o = i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=3 }
g
i 70
Q T
a
<
o 60
=
©
50 |
40
30
20
10
o i i i i
120
APV channel
[ ADC RMS for
=
g
[}
a
<
0
=
@

0 20 40 60 80 100 120
APV channel




run_13055020 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 24 06:36:02 2012

[ADC for FGT RDO=2,ARM=0,APV=5 } [ ADC for FGT RDO=2,ARM=0,APV=5 |
= 4000
5]
o
Q 3500
<
3000 g
2500
2000
a
1500 10
1000
500
o 107
0 1000 2000 3000 4000
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=6 } ADC for FGT RDO
- 4000 p—
5] = . . . . . .
5 =
9 3500 =
< =
3000 f=— 1
2500 fm—
2000 fm/——
=
=
1500 F=— 10
=
1000 P=—
o B 8 =
N 500 f—
. . . =
: ofE— ] i ; 107
o 118 i i E_. . . i . . . i . . . i . . i . . . i . . . i .
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=7 } [ ADC for FGT RDO=2,ARM=0,APV=7 }
|
L - 4000 p—=
3 g = . . . . . .
%0 g = 2 2 2 2 2 2
Q Q —
9 Q 3500 f=
< < =
3000 f=— 1
o
2500 =
=
2000 f—
. 000 b=
1500 f=— 10t
1000 fP=——
=
500 f=— -
=
0 = 102
= i i i i i i
0 1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=8 } [ ADC for FGT RDO=2,ARM=0,APV=8 |
o = 4000 p—
3 5] = . . .
o8 g = : :
9 Q 3500 F=—
< < =
3000 f=— 1
2500 =
2000 fm—
10 =
= a
1500 f=— 10
1000 f=——
=
500 f[=—
= 2
o f— Y - 10
=
b=
1000 2000 3000 4000 0
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=9 }
o o =
3 . . . ] = . . . . . .
20 & =
Q Q —_ -
9 9 3500 =
< < =
3000 f=—— - |
= 1
2500 f=— - -
=
2000 = - -
10 =
1500 = - -| o
= 10
=
1000 p=— - -
=
500 fm— - -|
=
0f—-"
= : : : : : : 10°
= . . i . . . i . . . i . . . i . . . i . . . i .
2000 3000 4000 0 20 40 60 80 100 120

raw ADC APV channel




run_13055020 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 24 06:37:15 2012

[ADC MPV for RDO=2,ARM=0,APV=5__}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=7 }

MPV (ADC-ped)

1500

1000

500

-500

°'I'I'I'I'I'I'r1T]"‘I'I'I'|'I'I'I1'[1'I'

i i i i
20 40 60 80 100 120
APV channel

[ADC MPV for RDO=2,ARM=0,APV=8__}

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=9 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13055020 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 24 06:37:48 2012

[CADC RMS for

RDO=2,ARM=0,APV=5_}

RMS (ADC-ped)

80

70

60

50

40

30

20

10

=L IICEENIaCEENIICEENIICERNIICEERTI0CE]

0
APV channel

[ADC RMS for

RDO=2,ARM=0,APV=6 |

RMS (ADC-ped)

)
80
70
60
50
40
30 =
20 =

10 =

1
9 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=7 }

RMS (ADC-ped)

100

APV channel

[CADC RMS for RDO=2,ARM=0,APV=8__}

RMS (ADC-ped)

60

50

40

30

20

10

°‘I'I'I'I]111I]IIII|HH[|I|| TET

i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=9 "}

RMS (ADC-ped)

90

80

-

70

60

50

40

30

20

10

i
120
APV channel

0

° jﬂfl] II1I[IHI]HII !I1Ir!ﬂﬂ1!ﬂii_%ﬂ_ﬂl1l




run_13055020 FGT_ADC _1,Timebin=2,Disc=1,asmb=1CD

Fri Feb 24 06:36:06 2012

ADC for FGT RDO=2,ARM=0,APV=12 _§

ADC-ped

2000

3000 4000
raw ADC

1000

ADC for FGT RDO=2,ARM=0APV=13 _§

ADC-ped

1 e e
0 1000 3000 40(

2000 0
raw ADC
[ Apcfor Fet RDO=2 ARM=0,APV-14 |
!
5
&2
O
a
<
10
1
i i i
0 1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=2,ARM=0,APV=15 |
1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=2.ARM=0.APV=16 |
1000 2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=12_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=0,APV=13 "}

- 4000 p—
g =
9 3500 f=—
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 P=—
=
500 f—
= 2
=== :
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=14 "}
- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
=
APV channel
[[ADC for FGT RDO=2,ARM=0,APV=15_}
- 4000 p—
5] = . . .
oo =
Q 3500 F=— -
< =
3000 f— -
2500 =
2000 f=—- ==+
=
1500 f=—— -
1000 f=—-- - - - -
=
=
500 fpm—------
=
ofE—--eee
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=2,ARM=0,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500 <411
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13055020 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD

Fri Feb 24 06:37:16 2012

[ADC MPV for RDO=2,ARM=0,APV=12_}

MPV (ADC-ped)

i i i
20 20 60 80 100 120

-500

[ ADC MPV for RDO=2,ARM=0,APV=13 "}

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

-500

[ ADC MPV for RDO=2,ARM=0,APV=14 "}

120
APV channel

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

APV channel

MPV (ADC-ped)

I
120

-500

[ ADC MPV for RDO=2,ARM=0,APV=16 }

20 40 60 80 100

APV channel

MPV (ADC-ped)

-500

120
APV channel

20 40 ) a0 100




run_13055020 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD
Fri Feb 24 06:37:49 2012

[ADC RMS for RDO=2,ARM=0,APV=12__}

=
) -
&
Q
a
<
0
=
©
o i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=13 "}

@) [——7rvrroroooooooTooog e e e L e R e L e e

—

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=0,APV=14 "}

60— e S T EEE T T LT EEE e T T e LT T e T TR

RMS (ADC-ped)

APV channel

[CADC RMS for RDO=2,ARM=0,APV=15__}

70 |

60

RMS (ADC-ped)

50

40

30

HI‘I]1|H|‘I11

20

|

10

°'I1III"

APV channel

| ADC RMS for RDO=2,ARM=0,APV=16 }

50

RMS (ADC-ped)

40

30

20

10

100 120

APV channel

°TII1'|'I'HI]'I'I‘Hr-FH'-I-I_-]u'IT (]
! ! ! —




run_13055020 FGT_ADC _1,Timebin=2,Disc=1,asmb=1CD
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run_13055020 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
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run_13055020 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
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[CADC RMS for RDO=2,ARM=4,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=1 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel
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Fri Feb 24 06:38:01 2012
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run_13055020 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Fri Feb 24 06:37:29 2012
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run_13055020 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Fri Feb 24 06:38:03 2012
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